DIvISION: NEGATIVE DECIMAL NUMBERS (H - SET 4)

CHALLENGE fie o
) —46.044 + (—0.09) = ) —44.58 = (—1.2) =
) —21.72 = 0.04 = W) —643.61 = 11 =
1) —0.58746 = (—0.006) = w9 7407.9 + 9 =
) —878.72 = (—0.8) = ) —80472 + (—8) =
) 1182.17 + 1.1 = w0 0.10121 + 0.001 =

546)

547)

548)

549)

550)

551)

552)

553)

554)

555)

1.2415 = (—0.005) =
1.3068 < 0.11 =
100665 =+ (—9) =
273.76 + (—0.8) =
—5508.6 + 0.6 =
76.72 = (—0.07) =
83380 + (—10) =

—3366.6 = 0.3 =

~100.859 =+ (—0.011) =

7.398 = (—0.003) =

Mathematics: Division - Level 6 - Horizontal - Set 4
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561)
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564)

565)
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567)

568)

569)

570)

~25.62 + (—0.07) =
—216.75 =+ (—0.5) =
—60.6 +2 =
1116+ (—1) =
185.88 =+ (—4) =
3.483 + 0.01 =
0.43912 < (—0.011) =
—26450 = 10 =
0.17696 = (—0.008) =

0.56292 + (—0.012) =
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